RIREREEBRDEM (RhA/13=20) 7>ir—MER

SETEHAR 2024F8A10H~202448A31H

[o]
¥
W

202

1 ABEWATERONE LD ?

Gk
&R N
FE S N
1A 14 23 37 18%
2N 20 18 38 19%
3A 16 40 56 28%
4 N 12 25 37 18%
5A 3 14 17 9%
6 A 2 5 7 3%
7 AN E 3 7 10 4%
At 70 132 202 100%
2HEEONE LI ?
[V
EETeks 24
FE S N
1A 11 20 31 15%
EXE 41 95 136 67%
LUN 17 16 33 16%
H v T 1 1 2 1%
At 70 132 202 100%




3EThLERONFELL?

SR
Bl
BENE £a
+H BAR /INET

FFRH 16 30 46 52%
fe & 8 7 15 16%
= 3 5 8 9%
Ne 2 6 8 9%
HE™ 3 2 5 6%
ESZ 0] 0 3 3 3%
= 0 1 1 1%
BA™ 1 0 1 1%
=M 0 1 1 1%
=T 0 2 2 2%

At 33 57 90 100%




RERAFA

EIF=S '
EEARAR Sy
FH ER N

il 11 9 20 23%
- A==lni] 2 26 28 33%
4=kl 4 3 7 7%
=] 1 0 1 1%
=i 0 8 8 9%
R 0 2 2 2%
picl== Iy 3 2 5 6%
ZXAR™ 2 3 5 6%
R 0 3 3 4%
=A™ 1 0 1 1%
J\NEmM 0 1 1 1%
W™ 1 3 4 5%
FEFET 0 1 1 1%
BiIx™ 0 1 1 1%

=i 25 62 87 100%




[EIR=2¢
EREN 2|2
FH EEN NS
REDKT 0 1 1 4%
ZRIE 1 5 6 24%
WE R 1 0 1 4%
—EE 3 0 3 12%
LR 1 1 2 8%
FH]IE 3 1 4 16%
NI 1 2 3 12%
FER 1 0 1 4%
BB 0 1 1 4%
EFR 1 0 1 4%
HRR 0 1 1 4%
)2 0 1 1 4%
&t 12 13 25 100%




[EIR=2¢
EREN s
FH B 2
5 53 80 133 66%
NA Y 0 4 4 2%
Bi#xE 8 23 31 15%
e 3 4 7 3%
NI EHEET 6 19 25 12%
Z Dt 0 2 2 2%
a5t 70 132 202 100%
b FASEE L7
[E1 &34
ERAEN G
FH EES 2N
M T 26 26 52 26%
FHA] 27 71 98 49%
A#E 12 25 37 18%
B[] 4 9 13 6%
B H 1 1 2 1%
At 70 132 202 100%




6FRFFRANA/N—=T %A THY £ L7=D?

[EIR=2¢
EREN s
FH EEN NS
R—L_— 52 16 68 34%
SNS 31 19 50 25%
MRS 2 3 5 2%
5 JF 0 0 0 0%
SIUN 47 27 74 37%
R & — 4 1 5 2%
a5t 136 66 202 100%
TRAREICES-BIIE?
[E1 &34
ERAEN G
FH EES 2N
e DBk 59 88 147 55%
ia=} 17 27 44 16%
*yFrh— 3 12 15 6%
"R 4 5 9 4%
&7k 21 22 43 16%
E7H—F > 0 5 5 2%
~y kDS 0 4 4 1%
=X 104 163 267 100%




SFEFMRAAAN—I THRELTIELVWAXNY b HY £FTH7

EIP=S 5
EEARAR PN
FH BEFR NG
AERH = 5 17 22 8%
FRARY b 9 19 28 10%
FATHERSE A R > b 44 59 103 38%
ARk 23 58 81 30%
FAX—ARY b 9 28 37 14%
=1l 90 181 271 100%
PR AAN—JICHELTIELWEEEHY FTH7?
EIF=S 2
[EIR2YAEN 2 A
FH EEN NEE
ENEE 7 26 33 31%
EREE 2 10 12 12%
ER 12 15 27 25%
LA k7> 6 21 27 25%
LixRiE 4 1 5 5%
R 0 1 1 1%
NV F 1 0 1 1%
AT 32 74 106 100%




I0REZFA LT, RENGBEEEWADLTTH?

EIP=S 5
EEAR e
*FH EEN /INE

2 46 82 128 63%

EhEHHRE 22 45 67 33%

EBSEBLLRAL 2 4 6 3%

X2 X0 AN i 0 1 1 1%

AN 0 0 0 0%
= 70 132 202 100%

11zofh, B8R, ELLL
- A LADLN

- BEANZLW

- BABEEECLTEILL
BEIEZBEVTIILL

- TIEDFE



